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நீங்கள் ைாங்கலாம். 

Main Book Practice Book Special book 

   
300/- 100/- 100/- 

 

For Bulk Orders, Please Contact Our District Co-ordinators 

 

------ For Individual orders ------ 
 

Call us: 9787609090, 9787201010 

VPP Order: You can give SMS to 9787104040 to get books by VPP 

Online Purchase: www.bookade.com, Amazon 

Ariyalur: 7094441952, 9843427724  

Chennai: 7094441953, 7868911969  

Chengalpet: 7397774505, 9600526295  

Coimbatore: 7397774501, 8973711777  

Cuddalore: 7397774502, 9003557799  

Dharmapuri: 7397774503, 9787144519  

Dindigul: 7094441954, 9150078022  

Erode: 7397774504, 9788831237  

Kallakuruchi: 7094441965, 9943153202  

Kanchipuram: 7397774505, 9600526295  

Kanniyakumari:7397774506, 9486679747  

Karur: 7094441955, 9842964646  

Krishnagiri:7094441956, 9543811011  

Madurai: 7094441957, 9843349892  

Mayiladuthurai: 8680810626, 9789175104  

Nagapattinam: 7094441966, 7598868760  

Namakkal: 7094441958, 7418176317  

Perambalur: 7397774509, 9003557799  

Pudukottai: 7397774510, 9597402010  

Ramanathapuram: 7094441959, 9150854043  

Ranipet: 7094441964, 9994311090  

Salem: 7397774511, 9952499928  

Sivaganga: 7397774512, 7708672601  

Tenkasi: 7397774515, 9500806359  

Thanjavur: 7094441960, 9940333073  

Theni: 7397774513, 7904657547  

Thirupathur:7094441961, 9786315453  

Thiruvallur: 7397774514, 8667604216  

Thiruvarur:7094441962, 7598868760  

Thoothukudi:7397774507, 9487771682  

Tiruchirappalli: 9626053030, 9787609090  

Thuraiyur: 9994595695, 9965894470  

Tirunelveli: 7397774515, 9500806359  

Tiruppur: 7397774524 9788776767  

Tiruvannamalai: 7094441963, 9952782495  

Vellore: 7094441964, 9994311090  

Villuppuram: 7094441965, 9943153202  

Virudhunagar: 7397774516, 8189844465  

You can also buy our books in Book Shops and Stationaries near you. 

http://www.bookade.com/
https://www.amazon.in/storefront?me=A3NAXZXWCU48AH&ref_=ssf_share


 
  

 wtsteam100@gmail.com                                                                              www.waytosuccess.org 
 

1  Exam Time Tips – 1 kjpg;ngz; tpdhf;fs;   

gFjp - m - 1 kjppg;ngz; tpdhf;fs; 
1. cwTfSk; rhu;GfSk ; 

 

Gj;jf gapw;rp tpdhf;fs ; 
1.  𝑛(𝐴 × 𝐵) = 6 kw;Wk; 𝐴 = {1,3} vdpy;> 𝑛(𝐵) MdJ 

 (m) 1   (M) 2    (,) 3   (<) 6 

2.  𝐴 = {𝑎, 𝑏, 𝑞}, 𝐵 = {2,3}, 𝐶 = {𝑝, 𝑞, 𝑟, 𝑠} vdpy;> 𝑛[(𝐴 ∪ 𝐶) × 𝐵] MdJ   

 (m) 8    (M) 20    (,) 12   (<) 16 

3. 𝐴 = {1,2}, 𝐵 = {1,2,3,4}, 𝐶 = {5,6}  kw;Wk; 𝐷 = {5,6,7,8}  vdpy; fPNo nfhLf;fg;gl;litfspy; vJ 
rupahd $w;W?          
(m) (𝑨 × 𝑪) ⊂ (𝑩 × 𝑫)    (M) (𝐵 × 𝐷) ⊂ (𝐴 × 𝐶)  

(,) (𝐴 × 𝐵) ⊂ (𝐴 × 𝐷)     (<) (𝐷 × 𝐴) ⊂ (𝐵 × 𝐴) 

4.  𝐴 = {1,2,3,4,5} –ypUe;J> 𝐵 vd;w fzj;jpw;F 1024 cwTfs; cs;sJ vdpy;  𝐵 –y; cs;s 
cWg;Gfspd; vz;zpf;if    
 (m) 3   (M) 2   (,) 4    (<) 8 

5.  𝑅 = {(𝑥, 𝑥2)|𝑥 MdJ 13 –I tplf; Fiwthd gfh vz;fs;} vd;w cwtpd; tPr;rfkhdJ  

(m) {2,3,5,7}   (M) {2,3,5,7,11}  (,) {4,9,25,49,121}  (<) {1,4,9,25,49,121} 

6.  (𝑎 + 2,4) kw;Wk; (5, 2𝑎 + 𝑏) Mfpa tupirr; Nrhbfs; rkk; vdpy;> (𝑎, 𝑏) vd;gJ 

(m) (2, −2)   (M) (5,1)  (,) (2,3)  (<) (𝟑, −𝟐) 

7.  𝑛(𝐴) = 𝑚  kw;Wk; 𝑛(𝐵) = 𝑛  vd;f.  𝐴  –ypUe;J 𝐵  –f;F tiuaWf;fg;gl;l ntw;W fzkpy;yhj 
cwTfspd; nkhj;j vz;zpf;if.  
(m)  𝑚𝑛    (M)𝑛𝑚   (,) 𝟐𝒎𝒏 − 𝟏   (<) 2𝑚𝑛 

8.  {(𝑎, 8), (6, 𝑏)} MdJ xU rkdpr; rhu;G vdpy;> 𝑎 kw;Wk; 𝑏 kjpg;Gfshtd KiwNa   

(m) (8,6)    (M) (8,8)    (,) (6,8)    (<) (6,6) 

9.  𝐴 = {1,2,3,4},  𝐵 = {4,8,9,10}  vd;f. rhu;G 𝑓: 𝐴 → 𝐵  MdJ 𝑓 = {(1,4), (2,8), (3,9), (4,10)}  vdf; 
nfhLf;fg;gl;lhy; 𝑓 -vd;gJ  

(m) gytw;wpypUe;J xd;Wf;fhd rhu;G  (M) rkdpr; rhu;G  

 (,)  xd;Wf;nfhd;whd rhu;G    (<) cl;rhu;G 

10.  𝑓(𝑥) = 2𝑥2 kw;Wk; 𝑔(𝑥) =
1

3𝑥
 , vdpy; 𝑓 ∘ 𝑔 MdJ  

(m)  
3

2𝑥2
     (M) 

2

3𝑥2
   (,)  

𝟐

𝟗𝒙𝟐
   (<) 

1

6𝑥2
 

11.  𝑓: 𝐴 → 𝐵 MdJ ,UGwr; rhu;G kw;Wk; 𝑛(𝐵) = 7, vdpy; 𝑛(𝐴) MdJ  

(m)  7    (M) 49   (,) 1    (<) 14 

12.  𝑓 kw;Wk; 𝑔 vd;w ,uz;L rhu;GfSk; 𝑓 = {(0,1), (2,0), (3, −4), (4,2), (5,7)}  

        𝑔 = {(0,2), (1,0), (2,4), (−4,2), (7,0)} vdf; nfhLf;fg;gl;lhy; 𝑓 ∘ 𝑔 –d; tPr;rfkhdJ  

(m) {0,2,3,4,5}    (M) {−4,1,0,2,7}    (,) {1,2,3,4,5}  (<) {𝟎, 𝟏, 𝟐} 

13. 𝑓(𝑥) = √1 + 𝑥2 vdpy;>  
(m) 𝑓(𝑥𝑦) = 𝑓(𝑥). 𝑓(𝑦)     (M) 𝑓(𝑥𝑦) ≥ 𝑓(𝑥). 𝑓(𝑦)   

(,) 𝒇(𝒙𝒚) ≤ 𝒇(𝒙). 𝒇(𝒚)     (<) ,tw;wpy; xd;Wkpy;iy 

14.  𝑔 = {(1,1), (2,3), (3,5), (4,7)} vd;w rhu;ghdJ 𝑔(𝑥) = 𝛼𝑥 + 𝛽 vdf; nfhLf;fg;gl;lhy; 𝛼 kw;Wk; 𝛽 –tpd; kjpg;G 

(m)  (−1,2)   (M) (𝟐, −𝟏)   (,) (−1, −2)    (<) (1,2)  

15. 𝑓(𝑥) = (𝑥 + 1)3 − (𝑥 − 1)3 Fwpg;gpLk; rhu;ghdJ   

 (m) Neupa rhu;G   (M) xU fdr; rhu;G (,) jiyfPo;r; rhu;G (<) ,Ugbr; rhu;G 

PTA-1 

PTA-2 

PTA-6, MAY-22 

PTA-3 

PTA-4 

PTA-5 

PTA-6 

SEP-20 

SEP-21 

PTA-2, JUL-22 

PTA-4, JUL-22 
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2   ntw;wpf;F top - 10Mk; tFg;G fzf;F 

 jahhpf;fg;gl;l gyTs; njupT tpdhf;fs; 
 

1.  𝑓(𝑥) = 𝑥2 − 𝑥 vdpy;,  𝑓(𝑥 − 1) − 𝑓(𝑥 + 1) vd;gJ                                                                             

(m) 4𝑥    (M) 2 − 2𝑥   (,) 𝟐 − 𝟒𝒙   (<) 4𝑥 − 2 

2.  𝑛(𝐴) = 𝑝, 𝑛(𝐵) = 𝑞 vdpy; 𝐴 kw;Wk; 𝐵 f;F ,ilNa fpilf;Fk; nkhj;j cwTfspd; vz;zpf;if 

(m) 2𝑝    (M) 2𝑞   (,)2𝑝+𝑞   (<) 𝟐𝒑𝒒 

3.  𝑓(𝑥)  =  (−1)𝑥 vd;gJ ℕ ypUe;J ℤ f;F tiuaWf;fg;gl;Ls;sJ. vdpy; f -d; tPr;rfk; 

   (m)  {1}    (M)  ℕ   (,) {1, −1}   (<)  ℤ 

4.  nfhLf;fg;gl;Ls;s glk; Fwpf;Fk; rhh;G> xU 

  (m) Nky;rhh;G        (M) khwpyp rhh;G 

   (,) xd;Wf;F xd;whd rhh;G     (<) rhh;G my;y  
 

2. vz;fSk; njhlh;thpirfSk ; 
Gj;jf gapw;rp tpdhf;fs; 

1.  A+f;spbd; tFj;jy; Jizj; Njw;wj;jpd;gb 𝑎 kw;Wk; 𝑏 vd;w kpif KOf;fSf;F> jdpj;j kpif 

KOf;fs; 𝑞 kw;Wk; 𝑟> 𝑎 = 𝑏𝑞 + 𝑟 vd;wthW mikAkhdhy;> ,q;F 𝑟 MdJ  

(m) 1 < 𝑟 < 𝑏   (M)  0 < 𝑟 < 𝑏   (,) 𝟎 ≤ 𝒓 < 𝒃      (<) 0 < 𝑟 ≤ 𝑏 

2.  A+f;spbd; tFj;jy; Jizj; Njw;wj;ijg; gad;gLj;jp> ve;j kpif KOtpd; fdj;ijAk; 9 -My; 
tFf;Fk; NghJ fpilf;Fk; kPjpfs; 
(m) 0, 1, 8    (M) 1, 4, 8   (,) 0, 1, 3  (<) 1, 3, 5 

3.  65 kw;Wk; 117 –apd; kP.ngh.t -it 65𝑚 − 117 vd;w tbtpy; vOJk;NghJ> 𝑚 –apd; kjpg;G   

(m) 4    (M) 2    (,) 1   (<) 3  

4. 1729 –I gfhf; fhuzpg;gLj;Jk; NghJ> me;jg; gfh vz;fspd; mLf;Ffspd; $Ljy; 

(m)1    (M) 2    (,) 3   (<) 4 

5.  1 Kjy; 10 tiuAs;s (,uz;L vz;fSk; cl;gl) midj;J vz;fshYk; tFgLk; kpfr;rpwpa 
vz; 
(m) 2025    (M) 5220   (,) 5025   (<) 2520 

6.  74𝑘 ≡ ______ (kl;L 100) 
(m) 1    (M) 2    (,) 3   (<) 4 

7.  𝐹1 = 1, 𝐹2 = 3 kw;Wk; 𝐹𝑛 = 𝐹𝑛−1 + 𝐹𝑛−2 vdf; nfhLf;fg;gbd; 𝐹5 MdJ  

(m) 3    (M) 5    (,) 8   (<) 11 

8.  xU $l;Lj; njhlu;tupirapd; Kjy; cWg;G 1 kw;Wk; nghJ tpj;jpahrk; 4 vdpy;> gpd;tUk; 
vz;fspy; vJ ,e;jf; $l;Lj; njhlu;tupirapy; mikAk;? 
(m) 4551    (M) 10091   (,) 7881   (<) 13531 

9.  xU $l;Lj; njhlu;tupirapd; 6tJ cWg;gpd; 6 klq;Fk; 7tJ cWg;gpd; 7 klq;Fk; rkk; vdpy;> 
mf;$l;Lj; njhlu;tupirapd; 13-tJ cWg;G 

(m) 0    (M) 6    (,) 7    (<) 13 

10. xU $l;Lj; njhlu;tupirapy; 31 cWg;Gfs; cs;sd. mjd; 16-tJ cWg;G 𝑚 vdpy;> me;j 
$l;Lj; njhlu;tupirapy; cs;s vy;yh cWg;Gfspd; $Ljy;. 

(m)16m     (M) 62m   (,) 31m   (<) 
31

2
 m 

11. xU $l;Lj; njhlu;tupirapy; Kjy; cWg;G 1 kw;Wk; nghJ tpj;jpahrk; 4. ,e;jf; $l;Lj; 
njhlu;tupirapd; vj;jid cWg;Gfisf; $l;bdhy; mjd; $Ljy; 120 fpilf;Fk;? 
(m) 6    (M) 7    (,) 8    (<) 9 

PTA-1 

PTA-3 

PTA-6 

SEP-20 

PTA-1 

PTA-4 

SEP-21,PTA-4,JUL-22 

PTA-5 

PTA-5, SEP-20 

SEP-21, MDL 

MDL 

MAY-22 
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12. 𝐴 = 265  kw;Wk; 𝐵 = 264 + 263 + 262 + ⋯ + 20  vdf; nfhLf;fg;gl;Ls;sJ. gpd;tUtdtw;wpy;
vJ cz;ik? 
(m) 𝐵 MdJ 𝐴 I tpl  264   (M) 𝐴 kw;Wk; 𝐵 rkk; 
(,) 𝐵 MdJ 𝐴 –I tpl 1 mjpfk;  (<) 𝑨 MdJ 𝑩 –I tpl 1 mjpfk; 

13. 
3

16
,

1

8
,

1

12
,

1

18
 , … vd;w njhlu;tupirapd; mLj;j cWg;G 

(m) 
1

24
(M) 

𝟏

𝟐𝟕
(,) 

2

3
(<) 

1

81

14. 𝑡1 , 𝑡2 , 𝑡3 , …. vd;gJ xU $l;Lj; njhlu;tupir vdpy;>  𝑡6 , 𝑡12, 𝑡18, … vd;gJ

(m) xU ngUf;Fj; njhlu;tupir                                                                   (M)  xU $l;Lj; njhlu;tupir

(,) xU $l;Lj; njhlu;tupirAky;y> ngUf;Fj; njhlu;tupirAky;y (<) xU khwpypj; njhlu; tupir

15. (13 + 23 + 33 + ⋯ + 153) − (1 + 2 + 3 + ⋯ + 15) apd; kjpg;G

(m) 14400 (M)  14200 (,) 14280 (<) 14520 

jahhpf;fg;gl;l gyTs; njupT tpdhf;fs; 

1. 𝑡𝑛 vd;gJ xU $l;Lj;njhlu;tupirapd; ntJ cWg;G vdpy; 𝑡8𝑛 − 𝑡𝑛 ,d; kjpg;G

(m) (8𝑛 − 1)𝑑  (M) (8𝑛 − 2)𝑑 (,) (7𝑛 − 2)𝑑  (<) (𝟕𝒏𝒅)

2. −3, −3, −3 ………. vd;gJ vj;jifa njhlu; tupir?

(m) $l;Lj;njhlu; tupir (M) ngUf;Fj; njhlu; tupir  

(,) Nkw;fz;l ,uz;Lk; my;y (<) $l;Lj;njhlu; kw;Wk; ngUf;Fj;njhlu; 

3. 2 + 4 + 6 + ⋯ + 2𝑘 = 90, vdpy; 𝑘 –d; kjpg;G

(m) 8   (M) 𝟗 (,) 10 (<) 11 

4. 𝑎 kw;Wk; 𝑏 vd;gd ,U kpif KOf;fs;. ,q;F 𝑎 > 0, 𝑏 vd;gJ 𝑎, -d; xU fhuzp vdpy; 𝑎 kw;Wk; 𝑏
Mfpatw;wpd; kP.ngh.t

(m) 𝒃 (M) 𝑎 (,) 3𝑎𝑏 (<) 
𝑎

𝑏

 5 .  𝑎, 𝑏, 𝑐 vd;gd xU $l;Lj; njhlu;tupirapy; cs;sd vdpy;> 
𝑎−𝑏

𝑏−𝑐
= 

(m) 
𝑎

𝑏
 (M) 

𝑏

𝑐
 (,) 

𝑎

𝑐
(<) 𝟏 

3. ,aw;fzpjk;

Gj;jf gapw;rp tpdhf;fs ; 
1. %d;W khwpfspy; mike;j %d;W Neupay; rkd;ghLfspd; njhFg;gpw;F jPu;Tfs; ,y;iynadpy;>

mj;njhFg;gpy; cs;s jsq;fs;
(m) xU Gs;spapy; ntl;Lfpd;wd (M) xNu xU Nfhl;by; ntl;Lfpd;wd 

(,) xd;wpd; kPJ xd;W nghUe;Jk; (<) xd;iwnahd;W ntl;lhJ 

2. 𝑥 + 𝑦 − 3𝑧 = −6, −7𝑦 + 7𝑧 = 7, 3𝑧 = 9 vd;w njhFg;gpd; jPu;T
(m) 𝒙 = 𝟏, 𝒚 = 𝟐, 𝒛 = 𝟑 (M) 𝑥 = −1, 𝑦 = 2, 𝑧 = 3 

(,) 𝑥 = −1, 𝑦 = −2, 𝑧 = 3 (<) 𝑥 = 1, 𝑦 = −2, 𝑧 = 3 

3. 𝑥2 − 2𝑥 − 24 kw;Wk;𝑥2 − 𝑘𝑥 − 6 –apd; kP.ngh.t (𝑥 − 6) vdpy;> 𝑘 –apd; kjpg;G   
(m) 3   (M) 5   (,) 6    (<) 8

4. 
3𝑦−3

𝑦
÷

7𝑦−7

3𝑦2
 vd;gJ 

(m) 
𝟗𝒚

𝟕
(M) 

9𝑦3

21𝑦−21
(,) 

21𝑦2−42𝑦+21

3𝑦3
(<) 

7(𝑦2−2𝑦+1)

𝑦2

PTA-2 

PTA-3 

PTA-6, SEP-20 

PTA-1 

PTA-3 

PTA-4 

PTA-6 

MAY-22 

PTA-4, MAY-22 

PTA-5 

PTA-1, JUL-22 

JUL-22 
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5. fPo;f;fz;ltw;Ws; vJ 𝑦2 +
1

𝑦2
–f;Fr; rkk; ,y;iy.

(m) 
𝑦4+1

𝑦2
(M) (𝒚 +

𝟏

𝒚
)

𝟐

(,) (𝑦 −
1

𝑦
)

2

+ 2 (<) (𝑦 +
1

𝑦
)

2

− 2  

6. 
𝑥

𝑥2−25
−

8

𝑥2+6𝑥+5
–apd; RUq;fpa tbtk;

(m) 
𝑥2−7𝑥+40

(𝑥−5)(𝑥+5)
(M) 

𝑥2+7𝑥+40

(𝑥−5)(𝑥+5)(𝑥+1)
(,) 

𝒙𝟐−𝟕𝒙+𝟒𝟎

(𝒙𝟐−𝟐𝟓)(𝒙+𝟏)
(<) 

𝑥2+10

(𝑥2−25)(𝑥+1)

7.    
256𝑥8𝑦4𝑧10

25𝑥6𝑦6𝑧6
–apd; tu;f;f%yk;

(m) 
16

5
|

𝑥2𝑧4

𝑦2
| (M) 16 |

𝑦2

𝑥2𝑧4
| (,) 

16

5
|

𝑦

𝑥𝑧2
| (<) 

𝟏𝟔

𝟓
|

𝒙𝒛𝟐

𝒚
| 

8. 𝑥4 + 64 KO tu;;f;fkhf khw;w mjDld; gpd;tUtdtw;Ws; vijf; $l;l Ntz;Lk;?

(m) 4𝑥2   (M) 𝟏𝟔𝒙𝟐   (,) 8𝑥2  (<) −8𝑥2

9. (2𝑥 − 1)2 = 9 –apd; jPu;T

(m) −1 (M) 2 (,) −𝟏, 𝟐 (<) ,jpy; vJTk; ,y;iy 

10. 4𝑥4 − 24𝑥3 + 76𝑥2 + 𝑎𝑥 + 𝑏 xU KO tu;f;fk; vdpy;> 𝑎 kw;Wk; 𝑏 –apd; kjpg;G

(m) 100,120  (M) 10,12  (,) – 𝟏𝟐𝟎, 𝟏𝟎𝟎 (<) 12,10

11. 𝑞2𝑥2 + 𝑝2𝑥 + 𝑟2 = 0  vd;w rkd;ghl;bd; %yq;fspd; tu;f;fq;fs;> 𝑞𝑥2 + 𝑝𝑥 + 𝑟 = 0  vd;w
rkd;ghl;bd; %yq;fs; vdpy;> 𝑞, 𝑝, 𝑟 vd;gd  

(m) xU $l;Lj; njhlu;tupirapy; cs;sd 
(M) xU ngUf;Fj; njhlu;tupirapy; cs;sd 

(,) $l;Lj; njhlu; tupir kw;Wk; ngUf;Fj; njhlu;tupir ,uz;bYk; cs;sd. 

(<) ,jpy; vJTk; ,y;iy 

12. xU Neupa rkd;ghl;bd; tiuglk; xU _________ MFk;

(m) Neu;NfhL (M) tl;lk; (,) gutisak; (<) mjpgutisak; 

13. 𝑥2 + 4𝑥 + 4 vd;w ,Ugb gy;YWg;Gf; Nfhit 𝑋 mr;NrhL ntl;Lk; Gs;spfspd; vz;zpf;if 

(m) 0   (M) 𝟏 (,) 0 my;yJ 1 (<) 2  

SEP-21, PTA-2 

SEP-21 

MAY-22 

MAY-22 

PTA-6, JUL-22 
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jahhpf;fg;gl;l gyTs; njupT tpdhf;fs; 
1. 𝑎𝑚, 𝑎𝑚+1, 𝑎𝑚+2 Mfpatw;wpd; kP.ngh.t

(m) 𝒂𝒎     (M) 𝑎𝑚+1 (,) 𝑎𝑚+2 (<) 1 

2. 
𝑎2

𝑎2−𝑏2
+

𝑏2

𝑏2−𝑎2
 -d; kjpg;G : 

(m) 𝑎 − 𝑏 (M) 𝑎 + 𝑏 (,) 𝑎2 − 𝑏2 (<) 1 

3. ve;jNthu; myF mzpapYk; %iytpl;lj;jpypy;yhj cWg;Gfs;
(m) 0    (M) 1    (,) m (<) n 

4. 𝑥3 − 𝑎3 kw;Wk; (𝑥 − 𝑎)2 ,d; kP.rp.k
(m) (𝑥3 − 𝑎3)(𝑥 + 𝑎) (M) (𝑥3 − 𝑎3)(𝑥 − 𝑎)2 

(,) (𝒙 − 𝒂)𝟐(𝒙𝟐 + 𝒂𝒙 + 𝒂𝟐) (<) (𝑥 + 𝑎)2(𝑥2 + 𝑎𝑥 + 𝑎2) 

5. 
𝑥3+8

𝑥2−2𝑥−8
 vd;w tpfpjKW Nfhitapd; tpyf;fg;gl;l kjpg;G   

(m) 8 (M) 2    (,) 𝟒 (<) 1 
6. xU gy;YWg;Gf; NfhitahdJ KOtu;f;fk; vdpy; mjd; fhuzpfs; ________ vz;zpf;ifapy;

,lk; ngWk;.
(m) xw;iwg;gil (M) G+[;[pak;  

(,) ,ul;ilg;gil (<) Nkw;$wpatw;wpy; vJTk; ,y;iy 

7. 
3𝑦−3

𝑦
÷

7𝑦−7

3𝑦2
 vd;gJ  

(m) 
𝟗𝒚

𝟕
(M) 

9𝑦3

21𝑦−21
(,) 

21𝑦2−42𝑦+21

3𝑦3
(<) 

7(𝑦2−2𝑦+1)

𝑦2

8. 𝑥2 − 25 = 0 –d; jPu;thdJ
(m) nka;naz; jPu;Tfs; ,y;iy (M) rkkhd nka;naz; jPu;Tfs; 
(,) rkkw;w nka;naz; jPu;Tfs; (<) fw;gidj;jPu;Tfs; 

9. 𝐴 = [
1 3 5
2 4 6

] vDk; nfhLf;fg;gl;l mzpf;F (𝐴𝑇)𝑇 vd;w mzpapd; tupir  

(m) 𝟐 × 𝟑 (M) 3 × 2 (,) 3 × 4 (<) 4 × 3 

10. 
𝑥2−25

𝑥+3
 vd;gij 

𝑥+5

𝑥2−9
–My; tFf;Fk;NghJ fpilg;gJ

(m) (𝒙 − 𝟓)(𝒙 − 𝟑) (M) (𝑥 − 5)(𝑥 + 3) 

(,) (𝑥 + 5)(𝑥 − 3) (<) (𝑥 + 5)(𝑥 + 3) 

4. tbtpay;

Gj;jf gapw;rp tpdhf;fs ; 
1. 

𝐴𝐵

𝐷𝐸
=

𝐵𝐶

𝐹𝐷
  vdpy;> 𝐴𝐵𝐶 kw;Wk; 𝐸𝐷𝐹 vg;nghOJ tbnthj;jitahf mikAk;. 

(m) ∠𝐵 = ∠𝐸  (M) ∠𝐴 = ∠𝐷  (,)  ∠𝑩 = ∠𝑫  (<) ∠𝐴 = ∠𝐹 

2. ∆𝐿𝑀𝑁-apy;  ∠𝐿 = 60°,   ∠𝑀 = 50° NkYk;> ∆𝐿𝑀𝑁~∆𝑃𝑄𝑅 vdpy;> ∠𝑅-apd; kjpg;G
(m) 40°    (M)  𝟕𝟎°  (,) 30°   (<) 110°

3. ,Urkgf;f Kf;Nfhzk; ∆𝐴𝐵𝐶-apy; ∠𝐶 = 90° kw;Wk; 𝐴𝐶 = 5 nr.kP> vdpy; 𝐴𝐵 MdJ  

(m) 2.5 nr.kP (M) 5 nr.kP (,) 10 nr.kP (<)  𝟓√𝟐 nr.kP 

SEP-20 

PTA-1 

PTA-2 

PTA-6 

PTA-4 

PTA-5 

PTA-5 

PTA-5 

MDL 

SEP-21 

PTA-4, MAY-22 

SEP-20 
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4. nfhLf;fg;gl;l glj;jpy; 𝑆𝑇 ∥ 𝑄𝑅, 𝑃𝑆 = 2 nr.kP kw;Wk; 𝑆𝑄 = 3 nr.kP.
vdpy;> ∆𝑃𝑄𝑅-apd; gug;gsTf;Fk; ∆𝑃𝑆𝑇-apd; gug;gsTf;Fk; cs;s tpfpjk;

(m) 𝟐𝟓 ∶ 𝟒 (M) 25 ∶ 7 

(,) 25 ∶ 11 (<) 25 ∶ 13 

5. ,U tbnthj;j Kf;Nfhzq;fs; ∆𝐴𝐵𝐶 kw;Wk; ∆𝑃𝑄𝑅-apd; Rw;wsTfs; KiwNa 36 nr.kP kw;Wk;
24 nr.kP MFk;. 𝑃𝑄 = 10 nr.kP vdpy;> 𝐴𝐵-apd; ePsk;  

(m) 6
2

3
 nr.kP  (M) 

10√6

3
 nr.kP (,) 66

2

3
 nr.kP  (<) 𝟏𝟓 nr.kP

6. ∆𝐴𝐵𝐶-apy; 𝐷𝐸 ∥ 𝐵𝐶.  𝐴𝐵 = 3.6 nr.kP 𝐴𝐶 = 2.4 nr.kP  kw;Wk; 𝐴𝐷 = 2.1 nr.kP vdpy;> 𝐴𝐸 –apd; ePsk;

(m) 𝟏. 𝟒 nr.kP     (M) 1.8 nr.kP   

(,) 1.3 nr.kP     (<) 1.05 nr.kP

7. ∆ 𝐴𝐵𝐶 -apy; 𝐴𝐷  MdJ> ∠𝐵𝐴𝐶 -apd; ,Urkntl;b. 𝐴𝐵 = 8 nr.kP> 𝐵𝐷 = 6  nr.kP kw;Wk;

𝐷𝐶 = 3 nr.kP vdpy;> gf;fk; 𝐴𝐶 -apd; ePsk;  

(m) 6 nr.kP  (M) 𝟒 nr.kP  (,) 3 nr.kP  (<) 8 nr.kP

8. nfhLf;fg;gl;l glj;jpy; ∠𝐵𝐶𝐴 = 90° kw;Wk; 𝐴𝐷 ⊥ 𝐵𝐶 vdpy;>

(m) 𝐵𝐷 ⋅ 𝐶𝐷 = 𝐵𝐶2 (M) 𝐴𝐵 ⋅ 𝐴𝐶 = 𝐵𝐶2 

(,) 𝑩𝑫 ⋅ 𝑪𝑫 = 𝑨𝑫𝟐  (<) 𝐴𝐵 ⋅ 𝐴𝐶 = 𝐴𝐷2 

9. 6 kP kw;Wk; 11 kP cauKs;s ,U fk;gq;fs; rkjsj; jiuapy; nrq;Fj;jhf cs;sd. mtw;wpd; mbfSf;F
,ilNaAs;s njhiyT 12 kP vdpy; mtw;wpd; cr;rpfSf;F ,ilNa cs;s njhiyT vd;d?

(m) 𝟏𝟑 kP   (M) 14 kP  (,) 15 kP   (<) 12.8 kP

10. nfhLf;fg;gl;l glj;jpy;> 𝑃𝑅 = 26 nr.kP>  𝑄 = 24 nr.kP>   ∠𝑃𝐴𝑄 = 90°, 𝑃𝐴 = 6 nr.kP

kw;Wk; 𝑄𝐴 = 8 nr.kP vdpy; ∠𝑃𝑄𝑅 -If; fhz;f.

(m) 80°   (M) 85°                  (,) 75°            (<) 𝟗𝟎°

PTA-1 

SEP-21, PTA-3, JUL - 22

PTA-5 

PTA-6, MAY-22

PTA-6 
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7  Exam Time Tips – 1 kjpg;ngz; tpdhf;fs;

jahhpf;fg;gl;l gyTs; njupT tpdh 

1. ,U tbnthj;j Kf;Nfhzq;fs; ∆𝐴𝐵𝐶 kw;Wk; ∆𝑃𝑄𝑅 Mfpatw;wpd; Rw;wsTfs; KiwNa  36nr.kP
kw;Wk; 24nr.kP MFk;. 𝑃𝑄 = 10nr.kP vdpy; AB –d; ePsk;

(m) 6
2

3
 nr.kP  (M) 

10√6

3
 nr.kP   (,) 66

2

3
 nr.kP  (<) 𝟏𝟓 nr.kP

5. Maj;njhiy tbtpay;

Gj;jf gapw;rp tpdhf;fs ; 

1. (−5,0), (0, −5) & (5,0) Mfpa Gs;spfshy; mikf;fg;gLk; Kf;Nfhzj;jpd; gug;G

(m) 0 r.myFfs; (M) 25 r.myFfs;      (,) 5 r.myFfs;        (<) vJTkpy;iy 

2. xU Rtupd; mUNf ele;J nrd;W nfhz;bUf;Fk; xU egUf;Fk; RtUf;Fk; ,ilNa cs;s
J}uk; 10 myFfs;. Rtiu 𝑌 –mr;rhff; fUjpdhy;> me;j egu; nry;Yk; ghij vd;gJ

(m) 𝒙 = 𝟏𝟎        (M) 𝑦 = 10          (,) 𝑥 = 0           (<) 𝑦 = 10

3. 𝑥 = 11 vdf; nfhLf;fg;gl;l Neu;f;Nfhl;bd; rkd;ghlhdJ

(m)  𝑋 –mr;Rf;F ,iz (M)  𝒀 –mr;Rf;F ,iz 

(,) Mjpg; Gs;sp topr; nry;Yk;  (<) (0,11) vd;w Gs;sp topr; nry;Yk; 

4. (5,7), (3, 𝑝) kw;Wk; (6,6) vd;gd xU Nfhlike;jit vdpy;> 𝑝 -apd; kjpg;G

(m) 3              (M) 6             (,) 9         (<) 12

5. 3𝑥 − 𝑦 = 4 kw;Wk; 𝑥 + 𝑦 = 8 Mfpa Neu;f;NfhLfs; re;jpf;Fk; Gs;sp

(m) (5,3)         (M) (2,4)           (,) (𝟑, 𝟓) (<) (4,4) 

6. (12,3), (4, 𝑎) vd;w Gs;spfis ,izf;Fk; Nfhl;bd; rha;T
1

8
 vdpy;> ′𝑎′-apd; kjpg;G. 

(m) 1          (M) 4           (,) −5 (<) 𝟐 

7. (0,0) kw;Wk; (−8,8) vd;w Gs;spfis ,izf;Fk; Nfhl;bw;Fr; nrq;Fj;jhd Nfhl;bd; rha;T

(m) −1         (M) 𝟏 (,) 
1

3
(<) −8  

8. Nfhl;Lj;Jz;L 𝑃𝑄-apd; rha;T
1

√3
 vdpy;> 𝑃𝑄-f;F nrq;Fj;jhd ,U rk ntl;bapd; rha;T 

(m) √3 (M) −√𝟑         (,) 
1

√3
(<) 0 

9. 𝑌 mr;rpy; mikAk; Gs;sp 𝐴-apd; nrq;Fj;Jj; njhiyT 8 kw;Wk; 𝑋 mr;rpy; mikAk; Gs;sp
𝐵-apd; fpilkl;lj; njhiyT 5 vdpy;> 𝐴𝐵 vd;w Neu;Nfhl;bd; rkd;ghL

(m) 𝟖𝒙 + 𝟓𝒚 = 𝟒𝟎        (M) 8𝑥 − 5𝑦 = 40         (,) 𝑥 = 8          (<) 𝑦 = 5

10. 7𝑥 − 3𝑦 + 4 = 0  vd;w Neu;Nfhl;bw;Fr; nrq;Fj;jhfTk;> Mjpg;Gs;sp topr; nry;Yk;
Neu;Nfhl;bd; rkd;ghL  

(m) 7𝑥 − 3𝑦 + 4 = 0       (M) 3𝑥 − 7𝑦 + 4 = 0     (,) 𝟑𝒙 + 𝟕𝒚 = 𝟎        (<) 7𝑥 − 3𝑦 = 0 

11. (i) 𝑙1; 3𝑦 = 4𝑥 + 5       (ii) 𝑙2; 4𝑦 = 3𝑥 − 1         (iii) 𝑙3; 4𝑦 + 3𝑥 = 7      (iv) 𝑙4; 4𝑥 + 3𝑦 = 2 vdf; 
nfhLf;fg;gl;l ehd;F Neu;f;NfhLfSf;Ff; fPo;f;fz;l $w;Wfspy; vJ cz;ik 

(m) 𝑙1 kw;Wk; 𝑙2 nrq;Fj;jhdit  (M) 𝑙1 kw;Wk; 𝑙4 ,izahdit 

(,) 𝒍𝟐 kw;Wk; 𝒍𝟒 nrq;Fj;jhdit   (<) 𝑙2 kw;Wk; 𝑙3 ,izahdit 

12. 8𝑦 = 4𝑥 + 21 vd;w Neu;f;Nfhl;bd; rkd;ghl;bw;Ff; fPo;f;fz;ltw;wpy; vJ cz;ik

(m) rha;T 0.5 kw;Wk; 𝒚 ntl;Lj;Jz;L 2.6          (M) rha;T 5 kw;Wk; 𝑦 ntl;Lj;Jz;L 1.6 

(,) rha;T 0.5 kw;Wk; 𝑦 ntl;Lj;Jz;L 1.6             (<) rha;T 5 kw;Wk; 𝑦 ntl;Lj;Jz;L 2.6 

13. xU ehw;fukhdJ xU ruptfkhf mikaj; Njitahd epge;jid
(m) ,U gf;fq;fs; ,iz.      (M) ,U gf;fq;fs; ,iz kw;Wk; ,U gf;fq;fs; ,izaw;wit. 

(,) vjpnujpu; gf;fq;fs; ,iz     (<) midj;Jg; gf;fq;fSk; rkk;. 

PTA-5 

SEP-21,PTA-2 

PTA-3 

PTA-3 

PTA-4 

PTA-4 

PTA-5, MAY-22 

PTA-1, SEP-20 

PTA-6, JUL-22 

MAY-22 

PTA-2, JUL-22 
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14. rha;itg; gad;gLj;jp ehw;fukhdJ Xu; ,izfukhf cs;sJ vdf; $w ehk; fhz Ntz;bait

(m) ,U gf;fq;fspd; rha;Tfs;       (M) ,U Nrhb vjpu; gf;fq;fspd; rha;Tfs;

(,) midj;Jg; gf;fq;fspd; ePsq;fs;       (<) ,U gf;fq;fspd; rha;Tfs; kw;Wk; ePsq;fs;

15. (2,1) I ntl;Lg; Gs;spahff; nfhz;l ,U Neu;f;NfhLfs;

(m) 𝑥 − 𝑦 − 3 = 0, 3𝑥 − 𝑦 − 7 = 0 (M) 𝒙 + 𝒚 = 𝟑, 𝟑𝒙 + 𝒚 = 𝟕  

(,) 3𝑥 + 𝑦 = 3, 𝑥 + 𝑦 = 7 (<) 𝑥 + 3𝑦 − 3 = 0, 𝑥 − 𝑦 − 7 = 0 

jahhpf;fg;gl;l gyTs; njupT tpdhf;fs; 

1. (0,0), (1,0) , (0,1) Mfpa Gs;spfis ,izf;f fpilf;Fk; Kf;Nfhzj;jpd; Rw;wsT

(m) √2     (M) 2    (,) 𝟐 + √𝟐   (<) 𝟐 − √𝟐

2. 𝐴(6,1), 𝐵(8,2), 𝐶(9,4)  kw;Wk; 𝐷(𝑝, 3) vd;gd xU ,izfuj;jpd; tupir fpukkhf vLj;Jf;
nfhs;sg;gl;l Kidfs; vdpy;> 𝑝 -d; kjpg;G

(m) −7   (M) 𝟕    (,) 6   (<) −6
PTA-5 

SEP-21 




